February 10, 2014

|. DeMoivre's Theorem: z" = [r(cose + isine)] n = rn(cos nO + isin nB)

Write in standard form. n = z

ST E<f0v/zo°fc S ,Zo.):l’ 2
e =~

4
R =71z %"z[ﬁ (cosl3s4i mn:ﬁ

i
r
| & =13g
ﬁ_ﬁl‘ 3 2" [Vz(cos 16135%% (54 Io-h&]h
2" o
(




1. nth roots of a complex number: z = r(cosB + isinB) has exactly n distinct

roots given by : w‘ P

4 /
n\r ( cos 8 + 21k + isin 8 + 2mk )where k=0, 1, 2, ..., n-1
n n

Ex 3) Find the three cube roots of z = -2 + 2i.
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nr (cos 8 + 21k +isin 8 + 2k ) where k=0, 1, 2, ..., n-1
n n |

Let us now do #95 in you‘rlh'o.mework together!
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Isn't math fun!
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